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					PRACTICE QUESTION ASSIGNMENT	
1 . 	(11-3x) / x2+2x-3
				Solution
		
Let u =  which gives 
		
		= ln 
		= ln 
2 . 
					Solution
	= ∫
	= ∫−
Since −1 is constant with respect to x, move -1 out of the integral
[bookmark: _Hlk37361419]	= −∫  + ∫ + ∫
Since12 is constant with respect to x, move12 out of the integral.
[bookmark: _Hlk37362463]	= − (12∫  + ∫ + ∫)
    Multiply 12 by −1
[bookmark: _Hlk37362781]	−12∫  + ∫ + ∫
[bookmark: _Hlk37363275]Let = X +1 Then = dx Rewrite using  and 
[bookmark: _Hlk37363080]	−12∫  + ∫ + ∫
[bookmark: _Hlk37363459]The integral of  with respect to  is ln (|u1|)
[bookmark: _Hlk37363183]−12(ln(||)+C)+ ∫ + ∫
Since 9 is constant with respect to x, move 9 out of the integral.
[bookmark: _Hlk37363376]		−12(ln(||)+C)+ 9 ∫ + ∫
Let = X +2 Then = dx Rewrite using  and 
[bookmark: _Hlk37363568][bookmark: _Hlk37363587][bookmark: _Hlk37363635]	= −12(ln(||)+C)+ 9 ∫ + ∫
The integral of  with respect to  is ln (||)
[bookmark: _Hlk37363849]	 = −12(ln(||)+C)+ 9(ln(||)+C)+ ∫
Since 5 is constant with respect to x, move 5 out of the integral.
		= −12(ln(||)+C)+ 9(ln(||)+C)+ 5∫
[bookmark: _Hlk37364034][bookmark: _Hlk37364053]		=−12(ln(||)+C)+ 9(ln(||)+C)+ 5 ∫
[bookmark: _Hlk37364154]		=−12(ln(||)+C)+ 9(ln(||)+C)+ 5(ln(||)+C)
[bookmark: _Hlk37364249][bookmark: _Hlk37366965]	Simplify −12 ln(||) + 9 ln(||) + 5 ln(||) + C
[bookmark: _Hlk37365521]		= −12 ln(|x+ 1|) + 9 ln(|x +2|) + 5 ln(|x + 3|) + C
3 .  1/(x2+121)
				Solution
		U=
		du = 
therefore = 
		=  
[bookmark: _Hlk37365574]		= ln 
		= ln 






     	
	
